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2] Holg T,

Zo]: 8+2=4(cm)
D 4x4x3.14 = 50.24( cm?)
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O oA @, O A H & F5HA L.

95 [ Asoiaol
32.97 cm @)

(@) 18 cm
> cm
> cm
[> HE': 105cm
[> ®HE 56.52cm

@ = 32.97 = 3.14 = 10.5( cm)
© = 18 x 3.14 = 56.52( cm)
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2 flellA 3urF] F Y 22,137 emE A AFHTh

() =(AA 2= A=)+ (F2 2)
=22.137 + 3 = 7.379(cm)

(9F) = (AE) x3.14

7.379 = (A§) x3.14

(AE) = 7.379 + 3.14 = 2.35( cm)




HF7162.8cmel Y] ol & oA L.

\4
L
e

[> HEh. 314cm?

Wk 52] o] & 62.8 +3.14 + 2 = 10( cm)
He] go] 1 10 x 10 x 3.14 = 314( cm?)
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24 e AW shtel o] et
2+30x3.14
=120 + 94.2 = 214.2( cm)




